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Test 1
English Language

Directions (Q. 1-15): Read the passage carefully and answer the questions given below it. Certain words/phrases are
given in bold to help you locate them while answering some of the questions.

For a look at what climate change could do to the world's food supply, consider what the weather did to the American
Corn Belt last year.

At the beginning of 2012, the Agriculture Department projected the largest corn crop in the country's history. But then
a savage heat wave and drought struck over the summer. Plants withered, prices spiked, and the final harvest came in 27 per
cent below the forecast.

The situation bore a striking resemblance to what happened in Europe in 2003, after a heat wave cut agricultural
production for some crops by as much as 30 per cent and sent prices soaring.

Several researchers concluded that the European heat wave was made more likely by human-caused climate change;
scientists are still arguing over the 2012 heat blast in the United States. Whatever their origin, heat waves like these give us a
taste of what could be in store in a future with global warming.

"The negative impacts of global climate change on agriculture are only expected to get worse," said a report earlier this
year from researchers at the London School of Economics and a Washington think tank, the Information Technology &
Innovation Foundation. The report cited a need for "more resilient crops and agricultural production systems than we
currently possess in today's world".

This may be the greatest single fear about global warming: that climate change could so destabilise the world's food
system as to lead to rising hunger or even mass starvation. A leaked draft ofa report by the United Nations climate committee,
known as the Intergovernmental Panel on Climate Change, suggested that the group's concerns have grown, and that the
report, scheduled for release in March, is likely to contain a sharp warning about risks to the food supply.

The tone is strikingly different from that of a report from the same group in 2007, which discussed some risks, but saw
global warming as likely to benefit agriculture in many important growing regions.

In the years since, new scientific research has checked those assumptions.

For one, a group of young scientists has pioneered more sophisticated ways of analysing the relationship between
agriculture and climate. People like David Lobell at Stanford and Wolfram Schlenker at Columbia have used elaborate statistical
techniques to get a detailed picture of what heat does to crop yields.

Their work suggests that rising heat stress in some major growing areas is already putting a drag on production, and
raises the possibility of much more serious effects as global warming continues.

Scientists had long hoped that the effect of heat and water stress on crops might be offset by the very thing driving
global warming: the sharp increase of carbon dioxide in the air. The gas is the main food supply for plants, and a large body of
evidence suggested that the ongoing rise could boost crop yields.

But a lot of that evidence came from tests in artificial environments like greenhouses. Younger scientists, who insisted
on testing crops in open-air conditions more closely resembling the real world, found that the bump in yield, while certainly
real, was not as high as expected. And it may not be high enough to offset other stresses from global warming.

The good news is that agriculture has a tremendous capacity to adapt to new conditions, including a warming climate.
Crops can be planted earlier, and new varieties that are more resistant to climate stress can be developed.

"Our past successes in agriculture have lulled many of those in decisionmaking positions into a false sense of security,"
said LVal Giddings, a fellow with the Washington think tank and a co-author of its report. "It's been so long since any of them
were actually hungry."

1. Whydid the final harvest in 2012 come to a remarkably lower level than what was forecast by the Agriculture Department?
(A) Heavy rainfall and flood caused severe harm to the crops.
(B) A heat wave and drought led the plants to wither away.
(C) A severe cold wave during the winter damaged the plants to a great deal.
1) Only (A) 2)Only (B) 3)Only (C)
4) Only (A) and (B) 5)All(A), (B) and (C)
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2. What did the research report from London School of Economics say about the impacts of global climate change on
agriculture?
1) There will be bumper crops in years to come.
2) There will be quantitative increase but qualitative deterioration in crops.
3) Global climate change will have adverse effect on agriculture.
4) There is a need for more resilient crops and agricultural production systems.
5)Only3)and4)

3. What is/are the greatest single fear about climate change? Give your answer in the context of the given passage.
1) Climate change will result in large - scale global changes in natural and social system.
2) Climate change will result in the extinction of many species.
3) Climate change will destablise the world’s food system and may lead to rising hunger or even mass starvation.
4) Climate change will cause increased malnutrition and increased health impacts.
5) All the above

4. Whathad the Intergovernmental Panel on Climate Change assumed about the effect of global warming in 2007?
(A) That global warming would harm agriculture only in the tropical region
(B) That global warming would help agriculture in a lot of important growing regions
(C) That global warming is harmful in coastal areas but beneficial in hilly regions

1) Only (A) 2) Only (B) 3)Only (C)
4) Only (A) and (B) 5) Only (B) and (C)

5. Which of the following is/are the outcome(s) of the research work of young scientists David Lobell and Wolfram
Schelenker?

1) That global warming is a temporary phenomenon and will have little effect on crops in desert regions
2) That the rising heat stress in some major growing areas is putting a drag on production

3) That global warming will have harmful effects on such crops as are grown in the winter season.

4) That global warming has no effect on the troposphere

5) All the above

6.  What was the reason of soaring prices of crops in Europe in 2003?
1) Rising inflation across the globe
2) Cyclonic storms which completely destroyed the standing crops
3) Heat wave
4) Heavy rainfall during crop seasons
5) None of these

7. What was the reason for the difference between the expected and actual results of crop yields?
1) The increase in CO, level was not so high as it was expected.
2) It was a factual mistake to assume that the rise in gas level would boost crop yields.
3) Artificial environment and open-air condition produced different crop yields.
4) In artificial environment the rate of photosynthesis was at optimum level whereas in open-air condition the rate of
photosynthesis varied throughout the growing season.
5) None of these

8  Which of the following gases is responsible for food supply for plants?
1) Methane 2) Nitrogen 3) Carbon dioxide
4) Ozone 5) All the above

9. Which of the following is not true about agriculture?
(A) Agriculture cannot withstand warming climate.
(B) Climate-resistant varieties of crops cannot be developed by any means.
(C) Agriculture has a huge capacity to adapt to new conditions.
1) Only (A) and (B) 2) Only (B) and (C) 3)Only (A) and (C)
4) Only (B) 5)All(A), (B) and (C)
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Directions (Q. 10-12): Choose the word/group of words which is MOST SIMILAR in meaning to the word/group of
words printed in bold as used in the passage.

10.  Spiked

1) projected 2) peaked 3) declined 4) pierced 5) developed
11.  Soaring

1) dropping 2) slumping 3) escalating 4) bitter 5) cutting
12. Resilient

1) versatile 2) skilful 3) flexible 4) delicate 5) resistant

Directions (Q. 13-15): Choose the word/group of words which is MOST OPPOSITE in meaning of the word/group of
words printed in bold as used in the passage.

13.  Sophisticated

1) artificial 2) simple 3) cultivated 4) experienced 5) sauve
14.  Boost

1) discourage 2) improve 3) upgrade 4) raise 5) lessen
15. Lulled

1) encouraged 2) qualified 3) pacified 4) cooled 5) quelled

Directions (Q. 16-20): Read the passage carefully and answer the questions given below it. Certain words/phrases are
given in bold to help you locate them while answering some of the questions.

A sharp and unexpected increase in inflation based on the wholesale price index underlines the need for the RBI to put
in place a framework for delivering low and stable inflation. There has been a discernible shift in policy in the two months since
Raghuram Rajan joined as governor — the RBI appears to be moving towards becoming a modern central bank that has price
stability as its main objective. Important steps have been taken but these need to be institutionalised so that Rajan's legacy is
assessed not merely in terms of how well the RBI does under him, but by whether or not he leaves behind a reformed
institution.

In the immediate context, Rajan needs to use each and every opportunity to emphasise price stability or inflation control
as the single most important objective of monetary policy. This is required because of the enormous confusion in the past, with
the RBI raising interest rates in periods of high inflation, but in between rate hikes, failing to commu-nicate its policy to the
public. A new and clearer approach is called for. Rajan has made a good beginning but he will have to be careful not to fall into
the trap many an emerging economy's central banker has fallen into — of worrying about the short-term movements of the
rupee.

In the longer run, the institutional framework for an inflation-targeting central bank must be clarified. Whether the RBI
should focus only on inflation or on another secondary objective as well — for instance, employment, like the US Fed does —
must be determined. A measurable objective will allow an accountable framework to be put in place. The RBI will then need to
be given independence, accountability and a clear mandate. There is no doubt that old-timers in policymaking, who have
managed well within the current mandate, will be reluctant to see the RBI change. Governors and deputy governors, retired and
serving, have often stood for the status quo and resisted loss of turf. But opposing institutional change is the nature of all
bureaucracies and India cannot be held hostage to that approach. In the next five years, if Rajan transforms the way the RBI
functions, and leaves behind a modern and well-functioning central bank, it would help prepare India for the fluctuations in
growth and the business cycle and for the pressures of globalisation in the coming decades.

16.  According to the author of the passage, what precaution should the governor take?
(A) He should not let the deputy governor take any financial decision without his consent.
(B) He should not worry about the short-term movements of the rupee.
(C) He should not pay heed to the unwanted advice of the Finance Minister.

1) Only (A) 2) Only (B) 3) Only (C) 4) Only (A) and (B) 5) Only (B) and (C)
17. What is the main objective of the RBI governor in the immediate context?

1) To contain inflation 2) To cut prime lending rate

3) To attract foreign direct investment (FDI) 4) To compete rupee with dollar

5) All the above
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18.  Find the incorrect statement on the basis of the given passage.
1) To fulfil secondary objectives such as employment, an accountable framework needs to be put in place.
2) To bring about a change in the framework, the RBI needs to be given independence, accountability and a clear
mandate.
3) The old policy makers will be enthused to see the RBI change.
4) It is innate nature of all bureaucracies to oppose institutional change.
5) None of these

19. The inflation here is based on which of the following measures?
1) Consumer Price Index 2) Wholesale Price Index 3) Cash Reserve Ratio
4) Economic growth rate 5) Current account deficit

20. What is the meaning of the word ‘hostage’ as used in the given passage?
1) host 2) guest 3) offender 4) captive 5) opponent

Directions (Q. 21-30): In the following passage, there are blanks, each of which has been numbered. These numbers
are printed below the passage and against each, five words are suggested, one of which fits the blank appropriately. Find out
the appropriate word in each case.

India has been the target of several (21) terrorist attacks in the recent years. The 26/11 Mumbai attacks and the February
14 blast in Pune killed nearly 200 people altogether and wounded over 300. Understandably, (22) to the attacks (23) from horror
to anger to calls for (24). There were demands that more be (25) to prevent such (26) in the future. One of these demands was
to (27) off terrorist financing or the money flow that allows terrorists to plan and implement such attacks, (28) funds sourced
from (29).

The international push to stop terrorism financing began in (30) in 1999, when the UN Security Council adopted
resolution requiring all member-states to freeze the bank accounts of Al-Qaida and the Taliban. After 9/11, that resolution was
expanded to include all terrorists specifically identified by government.

21. 1) deadly 2) dangerous 3)mild
4) notorious 5) villainous

22. 1) response 2) solution 3) reaction
4) approach 5) answer

23. 1) varied 2) ranging 3) spanned
4) covered 5) began

24.  1)recall 2) withdrawal 3) harmony
4) vengeance 5) amity

25. 1) asked 2) poured 3) granted
4) done 5) checked

26. 1) outbreaks 2) incidents 3) outrages
4) violences 5) acts

27. 1) stave 2) set 3) put
4) delay 5) choke

28. 1) covering 2) barring 3)including
4) except 5) large

29. 1) abroad 2) outside 3) master
4) exchequer 5) banks

30. 1)fact 2) earnest 3) genuinity
4)real 5) swing
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Directions (Q. 31-35): Which of the phrases (1), (2), (3) and (4) given below should replace the phrase given in bold in
the following sentences to make the sentence gramatically meaningful and correct? If the sentence is correct as it is and ‘No
correction is required’, mark (5) as the answer.

31.  Everybody does not have the intelligence to read under the lines and skim the surface.
1) to read between the lines 2) to read about the lines
3) toread of the lines 4) to read regarding the lines
5) No correction required

32.  Thecareer graph of most successful men reveal that they are men of exceptional foresight and initiative.
1) men revealed that they are men of 2) men reveals that they are men of
3) men had revealed that they are man of 4) men reveals that they are man for
5) No correction required

33.  The story of fast-running hare, who was defeated by the slow-moving tortoise, is too familiar to need elaboration.
1) no familiar to need 2) so familiar that need
3) too familiar to be needed 4) too familiar that needs
5) No correction required

34. A writer should not have an unrestricted right of expression.
1) a unrestricted right of expression 2) unrestricted right to expression
3) unrestricted right for expression 4) unrestricted right for expressions
5) No correction required

35.  Generallyjudicial activism is considered a much abused term in the corridors of political power.
1) a more abused term in 2) amore misused term in
3) amuch misused term in 4) a much used term in
5) No correction required

Directions (Q. 36-40): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the
proper sequence to form a meaningful paragraph and then answer the questions given below.

(A) Who will be here with us when the Police (contingents) move out?

(B) We will go back to the same ways and if we speak out our lives will be in danger.

(C) What has happened has happened.

(D) In 2006, when the crime occured a Khairlanji resident told us : Our lives are here—land, cattle, families.
(E) No one.

(F) That is the way it is for us.

36.  Which of the following sentences will come FIRST after rearrangement?
DA 2)C 3)B 4D S)E

37.  Which of the following sentences will come SECOND after rearrangement?
DA 2)B 3)C 4D S)E

38.  Which of the following sentences will come THIRD after rearrangement?
DA 2)B 3)E 4)C 5)D

39.  Which of the following sentences will come FIFTH after rearrangement?
DA 2)B 3)C 4D S)E

40.  Which of the following sentences will come LAST after rearrangement ?
DA 2)F 3)C 4D 5)B
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Directions (Q. 41-50): Read each sentence to find out whether there is any grammatical or idiomatic error in it. The

error, if any, will be in one part of the sentence. The number of that part is the answer. If there is no error, the answer is (5).
(Ignore errors of punctuation, if any.)

41.

42.
43.

44.

45.

46.

47.

48.

49.

50.

SBI-PO-001

(1) Besides his blue turban / (2) and flowing beard / (3) there is almost nothing / (4) to distinguish him from other
residents. / (5) No error

(1) The main reason / (2) for leaving the volatile region / (3) was the Taliban’s / (4) raise in prominence. / (5) No error

(1) Strangers who I met at the stadium / (2) took me out for dinner / (3) and sightseeing, without letting me / (4) pay a
penny. / (5) No error

(1) Although I am a sports buff, / (2) I feel we should not unnecessarily / (3) keep up the pretence of sporting ties / (4)
when all is not good between us. / (5) No error

(1) This is equivalent of / (2) a woman employee getting / (3) five years of paid leave / (4) in a 30-year working span. / (5)
No error

(1) Two vastly different films / (2) swept up equal number of trophies / (3) at the awards / (4) held at a glittering ceremony.
/(5) No error

(1) The duo’s wicked reputation / (2) has spread far and wide / (3) and the pretty blondes who were dancing with them
/ (4) suddenly sped away. / (5) No error

(1) Hussain is one of the few artists / (2) who has a popular connect / (3) because he comes / (4) from a different
background. / (5) No error

(1) Sahmat was formed / (2) after the death of Safdar Hasmi, / (3) an actor and street theatre / (4) activist was killed during
aperformance. / (5) No error

(1) Agriculture and services / (2) need to be / (3) progressively subject to / (4) more import competition. / (5) No error
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Test 11
General Awareness

Which of the following is a programme launched by the government to develop rural infrastructure in India?

1) Bharat Uday 2) Bharat Nirman 3) INNURM

4)ICDS 5) None of these

Consider the following banks operating in India:

(A) BNP Paribas

(B) Deutsche Bank

(C) Barclays

(D)RBS

Which of the following is a foreign bank functioning in India?

1)OnlyBand D 2)OnlyA,Band D 3)OnlyB, Cand D

4)OnlyA, Cand D, 5)AllA,B,CandD

Which of the following is not a term used in banking?

1) Overdraft 2)CBS 3) SME Finance 4) Account Payee 5) All are banking terms
In Banking services, market can be segmented on the basis of

1) density 2) customers 3) other players 4) Both 1) and 2) 5) Neither 1) nor 2)
Many a time we see a term in newspapers ‘[PO’. What is the full form of the same?

1) Indian Public Offer 2) Institutional Purchase Offer 3) Industrial Purchase Order

4) Indian Purchase Offer 5) Initial Public Offer

Many banks these days are entering into the business of offering loans against property. This business of the banks can
be categorised under which of the following heads of banking?

1) Corporate Banking 2) Personal Banking 3) Merchant banking

4) Portfolio Management Service 5) None of these

Which of the following is considered an informal method of getting credit/finance?
1) Internet banking 2) Branch visits 3) Going to moneylenders
4) Telebanking 5) All of these

Which of the following indexes is developed to measure life expectancy, level of literacy, education and standard of
living of people in a country?

1) Inflation 2) Sensex 3) Human Development Index

4)SLR 5) None of these

Many a time we read in newspapers about ‘Financial Inclusion’. What does it really mean ? [(Pick up the correct

statement(s)]

(A) Allow the merger and acquisition of banks so that only few big banks exist and continue to cater to the need of
corporate sector.

(B) Expanding the network of banks in such a way that people from lower strata of society also get the benefit of
services provided by banks.

(C) Providing insurance cover to each and every citizen so that he/she can live a healthy and long life.

1) Only (A) 2)Only (B) 3) Only (C) 4) Both (A) & (B) 5)All(A), (B) & (C)

The 9th Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) Divas was observed recently on
which of the following dates?
1)30 Jan 2)31 Jan 3)1Feb 4)2 Feb 5) None of these

Which of the following teams has won the Ranji Trophy cricket tournament recently?
1) Karnataka 2) Maharashtra 3) Punjab 4) Delhi 5) None of these

SBI-PO-001 9
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3) a7y fageh faw 4) faqeh Heemma fAaw
5) 399 ¥ Py TEl

§fepT erearaet @& wu H Rufeed @1 defifa $xar 87
1) Y WHR & W@ § GaT WSR

2) 31 G AT U Bl a1 WS8R

3) Uah SUHSR a1 89 0 HeR B UH R §
4) feh fRT SufEl gRT RIS U a1 9SSR

5) STH ¥ P T
99 4 9 I SRR gRT T AIdd DLIT dd= ST Bl eTefal HRT?
1) =1 ATt 2) XfcH M 3) fda& 4) 3P FAR AR 5) 399 W By T8l

Teg CTS &1 fawaiRa wu @l &7?
1) Cheque Tracking System 2) Cheque Transfer System 3) Cheque Timing System
4) Cheque Truncation System 5) S 9§ P T

<% Pl Ul AARS WAl 7 B & H e H ¥ fhE weR H e uReraT g% fear?

1) SR 2) §TAR 3) Hrdret 4) gqs 5) 31 | P G
IARH goie H el = B Uoel 99 &1 g1 4 10 Ufderd 98/ 1 § MR 2014-15 & fIU e e fear
T B

1) 2.11 feforz <. 2) 2.24 fefora <. 3) 2.44 fefoaa 2.

4) 3.25 fefora <. 5) 3.85 fefora <.

g ‘Self-Deception: India’s China Policies Origins, Premises, Lessons’ @1 /41 % 9 f&da gR1 foran T &7
1) 3r5vT & 2) SISt wATE 3) SEa e 4) Wz A 5) s ¥ P @

ARA IR 79 § 9 e <91 3 g &1 H Ugell R I g IRER | (@€1AY) R gwaer 6y 87 Idny §
I Al D AATN PR IR FATSH &G ST sl & MEF—Y&™ Pl graer fhar T 8 |
1) waifdrm 2) wikrer 3) fsoh 4) zarer 5) 379 & B G

/=1 % 9 fow of| afem & wg 9 A7 Sem?
1) ST ETdl dTel ATED] BT AATH FT T2

2) ¥9d WAl gREG B S UG I91

3) Sfdc F1E arRE F Bfsc &S I

4) SWIad

5) ®ad (1) 3R (3)

SBI-PO-001



62.

63.

65.

66.

67.

68.

69.

70.

71.

72.

73.
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India is ranked at which of the following places out of 178 countries in the 2014 Environmental Performance Index (EPI)
issued by Yale University recently? Switzerland tops the 2014 EPL.
1) 72nd 2)73rd 3)77th 4) 118th 5) 1550

Who among the following has become the first woman to be inducted in the International Cricket Council‘s (ICC’s)
umpires’ panel recently?
1) Katrina Keenan ~ 2) Haidee Tiffen 3) Kathy Cross 4) Emily Drum 5) None of these

The RBI’s report titled “State Finances - A study of Budgets of 2013-14” put which of the following states on top of a list
of states based on different fiscal parameters?
1) Jharkhand 2) Goa 3) Madhya Pradesh 4)Bihar 5) Chhattisgarh

The Arvind Mayaram panel is considering redefining overseas inflows. As per the proposal, any individual investment
above 10 per cent of the paid up capital in a listed company will be treated as:

1) Foreign Direct Investment 2) Foreign Portfolio Investment
3) Qualified Foreign Investors 4) Foreign Institutional Investment
5) None of these

What does repository refer to as in banking terminology?

1) Currency chest owned by state govt.

2) A separate small currency chest.

3) A sub chest, whose money forms part of the main chest.

4) A currency chest maintained by private financial companies.

5) None of these

Who among the following will head the 7th Central Pay Commission set up by the govt?

1) Meena Agarwal 2) Rathin Roy 3) Vivek Rae

4) Ashok Kumar Mathur 5) None of these

Expand the term CTS.

1) Cheque Tracking System 2) Cheque Transfer System 3) Cheque Timing System

4) Cheque Truncation System 5) None of these

The country’s first monorail service commenced its operations in which of the following cities recently?

1) Jaipur 2) Bangalore 3) Bhopal 4) Mumbai 5) None of these

The defence spending has been raised by 10 per cent from the previous year in the interim budget and has been fixed at
for 2014-15.

DRs2.11tn 2)Rs2.24tn 3)Rs2.44tn

4)Rs3.25tn 5)Rs3.85tn

The book titled ‘Self-Deception: India’s China Policies Origins, Premises, Lessons’ has been authored by who among the
following?
1) Arun Shourie 2) George Fernandes  3) Jaswant Singh 4) Narendra Modi 5) None of these

India and which of the following countries entered into a double taxation avoidance agreement (DTAA) for the first time
recently? The DTAA has provisions for exchange of banking information for tax administration purpose among other
things.

1) Malaysia 2) Mauritius 3) Fiji 4) Rwanda 5) None of these

Which of the following will be termed as cross-selling?
1) Selling a housing loan to a deposit customer

2) Selling a deposit product to a savings account holder
3) Selling a credit card to a debit card holder

4) All the above

5)Only 1) and 3)

SBI-PO-001 11
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71 3§ | 39 39 H foclig §999 & de & I B B G ] ddhfedd §fhT Ha1 81 Adhdl 27
1) B F=0 2) frar sfse &r1s 3) TEAd dfT emREry
4) Ararsa ST laen 5) SWIad § F HIg T

ARAT T 9% 1 QIP & Aedd A IRI @1 [ | 8,032 HRIs $UY o1 fd € S g1l €1 § 39 A1 & #A1eus 4
G TH DI AI9 9! sfwdt A g1 QIP &1 fawaRa wu @ 77

1) Qualified Initial Placement 2) Qualified Institutional Proposal

3) Qualified International Placement 4) Qualified Initial Proposal

5) Qualified Institutional Placement

§TIC W IS HIYeX (a9 &l tah If+1d Te¥ Bal & R geve R 39 fearsy @) ugae @ o
2

1) IA 2) IP 3) DG 4) DA 5) 379 | BIg TE
Pare P THR BT STHRT &7

1) =% 2) $19e 3) 3m3eye 4) 98 WA 5) T ¥ PIS T8
fr=faRad § @ S9-A1 999 9, 999 997 MR Fa FE HFYCR 77

1) TTa HFGeR 2) R HIYER 3) duei 4) Areg® 5) STH ¥ ®I3 Al
PHFRIEI BT DI Al AN GAAT BT G B H AGE AT 27

1) fs=p 9”9 2) BHErE 3) #ifeR 4) fiez 5) T 9 DIg T8
$eXIC W JR I GAl U B HFIEX B Ufhar &l PEd T

1) gferT 2) g 3) SIS 4) giepfa 5) 3TH | BIg T
$0o 9o FEfRaa & @ feas qa e 2?

1) f&t ge1 &1 o a9 2) Herl GA 3) uF forRg 4) g g9 5) T 9 PI3 T8
Ue RHle Fae 9 a6 Rag B AR fhar o1 7 | Reaa ) fF=faled § 9 fow o fean ser =nfag?
1) d=dret Ui 2) IP 3) BT 4) SNMP 5) fewiee e 9
Fgex | Sel (o) @ ®U H R B o 2

1) wTgal 2) Sr¥aeRal 3) waifoar 4) Aex 5) S ¥ DIS T8
HIC U™ SR AR B U T § Sl G Pl BIgd A Acd IR ol 8, G& Bl A-USLH IR oIdl g 3R
A0 Wizl H el o 2|

1) o+ 2) d1E_d 3) gIoF B 4) R w64 5) STH ¥ @13 TEl
TERSIT R BIC-BIT UMhe Bid &, T PEd T |

1) fdsrs 2) & 3) MEEHA 4) foger 5) T ¥ DIS T8
el TS /TR Afsd H, Th dellse WU

1) a1 3R ®Isel U™ AT 8 2) @ & fog gudr @

3) TR Y Bl AMCIIR HIgel <l & 4) AR BRI B TCT Bigat faalRd wvar &

5) sTH ¥ P T

P W § FHM SIET Bl GUE BIAT R HEATAT 82

1) ™ 2) 3RIH 3) EHAl 4) Reve=qr 5) STH ¥ P T

DA Acds [ARTE wU ¥ Ueh 98d & A WIMfas &3 H, JmdR & 8 [AfesT & Wik, ol d9geRi & srsdn
g?
1) LAN 2) MAN 3) WAN 4) BAN 5) T 9§ P T
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Which of the following may be the best alternative banking service to achieve the target of financial inclusion in the

country?
1) Agricultural loans 2) Kisan Credit Cards 3) Personal Banking Branches
4) Mobile Banking Facility 5) None of the above

State Bank of India (SBI) has raised Rs 8,032 cr by selling shares through QIP, making it the biggest ever equity sale via
this route recently. What does QIP stands for?

1) Qualified Initial Placement 2) Qualified Institutional Proposal

3) Qualified International Placement 4) Qualified Initial Proposal

5) Qualified Institutional Placement

On the Internet, every device has a unique address that identifies it in the same.

DIA 2)IP 3)DG 4) DA 5) None of these
What kind of device is the keyboard?

1) black 2) input 3) output 4) word processing 5) None of these
Which of the following refers to the fastest, biggest and most expensive computers ?

1) Personal computers 2) Supercomputers 3) Laptops

4) Notebooks 5) None of these

Which part of the computer helps store information?

1) Disk drive 2) Keyboard 3) Monitor 4) Printer 5) None of these
The process of a computer receiving information from a server on the Internet is known as

1) pulling 2) pushing 3) downloading

4) transferring 5) None of these

Sending an e-mail is similar to

1) picturing an event 2) narrating a story 3) writing a letter

4) creating a drawing 5) None of these

You need to configure a switch from a remote subnet. Which of the following must be configured on the switch?

1) Console port 2)IP 3) Hostname 4) SNMP 5) Default gateway
Data (information) is stored in computer as

1) files 2) directories 3) floppies 4) matter 5) None of these

A computer is a set of program instructions that can attach itselfto a file, reproduce itself, and spread to other
files.

1) worm 2) virus 3) trojan horse 4) phishing scam 5) None of these

The desktop contains small graphics called
1) windows 2) logos 3)icons 4) pictures 5) None of these

In a client/server model, a client programme

1) provides information and files 2) asks for information

3) serves software files to other computers 4) distributes data files to other computers

5) None of these

Storing same data in many places is called

1) Error 2) Iteration 3) Concurrency 4) Redundancy 5) None of these
Which network typically connects personal computers within a very limited geographical area, usually within a single
building?

1)LAN 2) MAN 3) WAN 4) BAN 5) None of these

SBI-PO-001 13
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MAF T & AU 98 AiFR S ToniRed & w0 #§ o= wran 8, 99§ 9 feas g v e s 87

1) sifesiae 2) wcd 3) WrHoR 4) fAfes 5) T 9§ PIg T
Arbe ROd feas fay ST 2?2

1) e T Bl g 2) I Toa o1 T A

3) | IR B AT 4) 3T o oy 73 H=RA

5) SWRIad |1

frfafad § & @19 fasmos & va dve SRET ddHie T8 77

1) fasr oen 2) BIHd A 3) qedare Wil 4) vafy wen 5) 39 | BIg AL

‘Bojerd REd” qoId: dag ®

1) BRoT AR gRomH Ady wnfid &= & A

2) IfWwy & gargad a1 AfesErl R ugad |

3) @5l & "gfed g9 @l mafl @1 A SR fdhed dRA A

4) ST |

5) 5 ¥ BIS TE

T A, R gie saife &1 Joaied §is & Yl Jod 3R Sl 30 & U a1 9is d1el Sue & ™I Hod &
g IAR B JoIT BRD AT I B, FEATH B

1) g 7sfaat fafy  2) usw Mfvgw A 3) afw Jeefen Y 4) 1) ik 2) =i 5 Fd1)d 8 2)
M wrifr & nfie gar 2

1) 81 &1 JeiHT 2) |E HIEH DI YA HRAT 3) I HUCET B AT HUD
4) 1) 3R 3) =i 5) STH | ®I3 TEl

SAP ®¥ecl VeI U HIF-d <9 H Rerq 82

1) $Teis 2) IRd 3) S 4) scell 5) T 9 PIZ T8
OIR fORaRIaxe &1 sef 2

1) fdw I & Al 2) 31fe® i Bl Fdral < 3) 3ffgd Icure WIEAT

4) e HHEIT TR 5) adFH SR Y STEl & SR fama § afg

gardT fauoe & ferfalRaa § & fead weraan e 27

1) T SR & faerd 2) Tfcrr ardraReT UaT HeA 3) SRl & foy A U_T S
4) A aft 5) 57 | BIS T

fauor # wfet @1 3ref & 7

1) ATEH BT BIF AT 2) ATEDI A JATHI BRAT 3) AU |ge WR S

4) 9TEl ATEDI DI Didd HAT 5) T ¥ PIS T8

Sfora) et @1 e1ef ®

1) vgfa as 2) dawRll P IE ATl

3) 9 W T8 HARN B IS SUALT HRIY Ol & 4) 3 |

5) 57 | BIg T

ST B aef

1) Scure fesmsf 2) Y agfear (faam) 3) 3rfuRoT

4) @9 (1) 3R (2) 5) @wad (2) 3R (3)
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In order to process data, software applies which of the following, also known as algorithms.

1) Objects 2) Rules 3) Procedures 4) Arithmetic 5) None of these
Market research is useful for

1) choosing the sales person 2) deciding the selling price

3) choosing the right product 4) deciding proper marketing strategies

5) All the above

Which of the following is not a 'Post testing' Technique of advertisement?
1) Sales test 2) Focus group 3) Enquiry test 4) Attitude test 5) None of these

‘Casual’ research is basically concerned with

1) establishing cause and effect relationship

2) arriving at a forecast or prediction of interest

3) measuring and estimating the frequencies with which of things occur
4) All of the above

5) None of these

A method, in which Brand equity is measured by comparing difference between the retail price of the brand and the retail
price of an unbranded product in the same category is called:

1) Brand goodwill method 2) Price premium method 3) Cost moderating method
4) Both 1) and 2) 5) Neither 1) nor 2)

Media planning includes:

1) assessing lost 2) selecting the right medium 3) Liaisoning with other companies
4) both 1) and 3) 5) None of these

SAP consultancy Axon Group is based in which country?

1) England 2) India 3) Germany

4) Italy 5) None of these

Market Expansion means

1) hiring more staff 2) firing more staff 3) buying more products
4) buying more companies 5) growth in sales through existing and new products

Effective marketing helps in
1) developing new products 2) creating a competitive environment 3) building demand for products
4) All of these 5) None of these

A Call in Marketing means
1) to phone the customers 2) to visit the customers 3) to visit the marketing site
4) to call on prospective customers 5) None of these

Delivery Channel means

1) maternity wards

2) handing over the products to the buyers

3) places where products are made available to the buyers

4) All of these

5) None of these

Innovation means

1) product designing 2) new ideas 3) motivation
4) Only (1) and (2) 5)Only (2) and (3)
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U3Tgen 11
it

fAadw (u. 101-105): 3T v 2t | ©: -3l Huf=al A, B, C, D, E 3k F @ a9 2008 & 2013 d% ot 3@afd

P SRM SRR & JSeH 3R I (FoiR #) @1 R@mn w7

9§ > 2008 2009 2010 2011 2012 2013
PRV [Seared| s |Saaies| s |Sarea] [l |Sdred| MR |Saed] e |sae] [@s
A 70 50 74 52 72 60 80 75 80 65 90 80
B 54 52 55 50 64 54 45 40 65 35 56 54
C 51 45 50 48 48 42 62 60 70 65 66 64
D 40 37 43 39 38 30 35 32 45 42 41 36
E 60 54 67 58 65 62 57 54 59 54 49 46
F 61 60 49 32 59 57 66 62 52 49 55 45
101. f59 99 Ul E gRT S1fed SRl § A 99 Y SRR &l ufera 9&9 &9 287
1) 2008 2) 2009 3) 2010 4) 2011 5) 2012
102. @9 2012 3 W B: HUFHl § IR TRRI BT Bl G AR a9 2013 & I9 TY SRRI B Bl AT Bl 3R (BIR
H) w1 77
1) 40 2) 41 3) 42 4) 43 5) 44
103. a9 2011 & 2012 9% HU- A ERT 99 ¢ SRR &) G § yfoed afg a1 g9 /1 287
1) 12% 2) 12.5% 3) 13% 4) 13.5% 5) 39 | BIg T
104. B A 3R HUN E & fares ad 2008 AR a9 2013 3§ 99 MY G SRR & &9 &1 U 1 87?
1)6:5 2)5:6 3)7:6 4)6:7 5) STH | ®I3 Al
105. U= A gRT 99 2012 H 99 Y SRR & 61 S9d g§RT a9 2008 H 99 U SRR & &1 9 fhad wfaerd sarey 27
1) 10% 2) 15% 3) 20% 4) 25% 5) 30%

fAder (9. 106-110): R ¢ 1% #§ H9 FufAAT A, B 3R C & a9 2008-2013 @t @D & RN ¥ AR AT B

U P T T T

106.

—e— Company A —#— Company B —&— Company C

1.2 1

1 -
0.8 1
0.6
0.4 1
0.2 1

0 T T T T T 1

2008 2009 2010 2011 2012 2013
f=forRag & & foa o § ®u=t C &1 ufdera sif/am™ ifdeas 87
1) 2008 2) 2009 3) 2010 4) 2011 5) 2012

16
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Test 111
Data Interpretation and Data Analysis

Directions (Q. 101-105): Following table shows the production and sale (in thousands) of tyres of six different companies

A,B,C,D, E and F during the period 2008 to 2013.

Year > 2008 2009 2010 2011 2012 2013
Company ¥ [ pro [ sale Pro. | Sale | Pro. | Sale Pro. | Sale | Pro. | Sale Pro. | Sale
A 70 50 74 52 72 60 80 75 80 65 90 80
B 54 52 55 50 64 54 45 40 65 35 56 54
C 51 45 50 48 48 42 62 60 70 65 66 64
D 40 37 43 39 38 30 35 32 45 42 41 36
E 60 54 67 58 65 62 57 54 59 54 49 46
F 61 60 49 32 59 57 66 62 52 49 55 45

101.

102.

103.

104.

105.

In which year is the number of tyres sold for Company E the minimum percentage of its tyres produced?
1)2008 2)2009 3)2010 4)2011 5)2012

What is the difference between the total tyres produced in all six companies in 2012 and the total tyres sold in 2013
(answer in thousands)?

1)40 2)41 3)42 4)43 5)44

What is the percentage increase/decrease in the number of tyres sold by Company A from 2011 to 2012?

1) 12% 2)12.5% 3)13% 4)13.5% 5) None of these
What is the ratio of the total tyres sold by Company A and Company E together in the year 2008 to that in the year 2013?
1)6:5 2)5:6 3)7:6 4)6:7 5) None of these

In Company A, the number of tyres sold in 2012 is what per cent more than the number of tyres sold in the year 2008?
1) 10% 2)15% 3)20% 4)25% 5)30%

Directions (Q. 106-110): Following line graph shows the ratio of expenditure to income of three companies A, B and C

during the period 2008-2013.

106.

—e— Company A —#— Company B —&— Company C

2008 2009 2010 2011 2012 2013

In which of the following years is the percentage loss/profit of Company C the maximum?
1)2008 2)2009 3)2010 4)2011 5)2012

SBI-PO-001 17
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107. 3R g9 2008 3R 2009 BT AATHR BUH A BT ¥ 60 oG . 8, dI a8 2008 3R 2009 B TR sHD! 3T T
g?

1) 120 9 3. 2) 150 I=F 3. 3) 66.66 ARG 3. 4) 3MHS MR B 5) T ¥ DI3 T8
108. 3R T 2008 3R 2012 HI AT HUN B &1 a7 60 o %. 8, al 2008 3N 2012 HI HeTdx @ 3T a1 87

1) 66.66 dE 3. 2) 75 9@ %. 3) 48 @@ <. 4) 96 TG <. 5) 3Tidhe SN
109. &4 a¥ § wu C B 100% FATHT BT 57

1) 2008 2) 2009 3) 2010 4) 2011 5) T ¥ DIS T8
110. T 2009 & 2010 % ®u=i C & wed o™ § ufaed fREe @ 87

1) 75% 2) 300% 3) 62.5% 4) 160% 5) g A Big TE

fAde (9. 111-115): R 71 3156 3§ 2008 @ 2013 o5 3@f & IR S HUFG A iR B & 3mam« 3R [afa & srgua
B fR@rn W

—e— Company A —&— Company B

1.4

1.2 4

0.8 1

0.6 1

0.4 1

0.2 1

2008 2009 2010 2011 2012 2013

111. U= A &1 a9 2009 H mard R Faid &1 s urd, Su=l B & a9 2009 & ARG iR i & srura 3 feaan wfrera

SgreT oA77?

1) 15% 2) 20% 3) 25% 4) 30% 5) 37 ¥ g T
112, A& 99 2011 # ®uN A &1 7l 10 ag <. o, a1 I a9 S B & Y omard &1 Jed F®a1 8Im?

1) 8 @ %. 2) 12.5 9 g 3. 3) 9 g .

4) fgiRa &1 fBar s |owan 5) T ¥ PIS T8

113. 3R 9§ 2010 ¥ U1 A &7 A AR g9 2011 § Hu1 B &1 fI7d B 60 oG . 3R 50 <9 %. &, a a9 2010
H U A B AT IR a¥ 2011 H HU B & AR & dra Pl UM 9T 57

1) 10 : 9 2)9: 10 3)3:5 4)4:3 5) s Q I TG
114. fpa 9§ § dU1 A &1 M 3ffSpay o7
1) 2008 2) 2009 3) 2010 4) 2012 5) frefRa T8 fbar s ga@ar

115. 3R @¥ 2011 H HU A &I AT 80 oY 3. 3R a9 2010 & Hu B &1 faiq 180 < <. o1, @l 99 2010 H Hu=
B &1 3mad 9§ 2011 & Ul A & fafa & feaar ufdea sarer en?

1) 8% 2) 80% 3) 100% 4) 25% 5) 20%
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If the expenditure of Company A in 2008 and 2009 together is Rs 60 lakhs, then what is its income in 2008 and 2009
together?

1) Rs 120 lakhs 2) Rs 150 lakhs 3) Rs 66.66 lakhs 4) Data inadequate 5) None of these

If the expenditure of Company B in 2008 and 2012 together is Rs 60 lakhs then what is its income in 2008 and 2012
together?

1) Rs 66.66 lakhs 2) Rs 75 lakhs 3) Rs 48 lakhs 4) 96 Rs lakhs 5) Data inadequate
In which of the years does Company C gain 100% profit?

1)2008 2)2009 3)2010 4)2011 5) None of these
What is the percentage decrease in the percentage profit of Company C from 2009 to 2010?

1)75% 2)300% 3)62.5% 4) 160% 5) None of these

Directions (Q. 111-115): Following line graph shows the ratio of imports to exports of two companiesA and B during the

period 2008-2013.

111.

112.

113.

114.

115.

—e— Company A —&— Company B
1.4
1.2 A1
1 -
0.8 1
0.6 1
0.4 A
0.2 1
O T T T T T 1
2008 2009 2010 2011 2012 2013
Theratio of imports to exports of Company A in the year 2009 was what percentage more than that of Company B in the

same year?

1)15% 2)20% 3)25% 4)30% 5) None of these

Ifthe exports of Company A in the year 2011 was Rs 10 lakhs, then what would be the value of imports in the same year
for Company B?

1) Rs 8 lakhs 2) Rs 12.5 lakhs 3)Rs 9 lakhs

4) Can’t be determined 5) None of these

Ifthe imports of Company A in the year 2010 and the exports of Company B in the year 2011 were Rs 60 lakhs and Rs 50

lakh respectively, then what is the ratio of the imports of Company A in the year 2010 to that of Company B in the year
20117

1)10:9 2)9:10 3)3:5 4)4:3 5) None of these
In which of the years was the imports of Company A the maximum?
1)2008 2)2009 3)2010 4)2012 5) Can’t be determined

Ifthe imports of Company A in 2011 was Rs 80 lakhs and the exports of Company B in 2010 was Rs 180 lakhs, then by what
percentage was the imports of Company B in 2010 more than the exports of Company A in 20117

1)8% 2)80% 3)100% 4)25% 5)20%
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fAde (9. 116-120): 9= 11317 HUAAT A, B, C, D 3R E 3 yoR &) agaii 1 3R 11 &1 e et & | gra

Hufil ER1 Swifed axgeli @ fa G 80 TR Tl UAP I Bl SWUEA ANM 5 TR IUY g1 S BUCH B HA
Iared o1 ufdea faarer Ry g o= & fRamn w1 & iR Ry ¢ Sga | axg 1 3R 11 & Sured &1 gua AR s9
E A W IS O W 39 UM gR1 It ufiea gAe @1 fRwmn w7

116.

117.

118.

119.

120.

E
36°
D AO N JeqTE B T Fifsra e wferera
540 20 g 1 =g 11 =g 1 a=g 1
A 2 3 20 15
B 1 2 25 30
C
70 B C 2 3 10 12
108° D 3 2 15 25
E 4 1 30 24
FUA C gRT g 11 W AT g1 @1 AR o 87
1) 57.6 99 . 2) 55.4 AE 5. 3) 56.8 T . 4) 54 A . 5) 5T 9 BIE TE
BUA A 3R B & feraR axg | &1 gdf Icared dAnTa oo 87
1) 5 &xTs 5. 2) 6 TRIS 3. 3) 8 IS 3. 4) 9 TS 3. 5) T ¥ BI3 T8
PUA A R & | & ST WR I @ 3R SU D gRT a¥g 11 & Scras W Ao o H1 A /a1 8?
1) 1.56 &_r$ <. 2) 22 IS . 3) 1.3 RIS . 4) 2.6 IS S. 5) T ¥ DIS T8
BUA A B g 1 $1 ST T 3R U E B avg | &1 Iced AN & drd B U ;1 8?
H17: 12 2)4:5 3)7: 4 4)15: 8 5)1:2
FU E & 9] 11 &1 IUed anTd HU A Bl 9 [ B Ieued AT B fas gfeid g?
1) 80% 2) 20% 3) 60% 4) 75% 5) 40%

fAder (9. 121-125): T v 7 § <9 asf 2011, 2012 MR 2013 & SR B: BuHA gR1 AfRfT wfdeE v 3

TIMAT T 21 39 U R IR fA=ferfa usHl & SR 2

121.

20

—e— 2011 —u— 2012 —a—2013

80 7

70 A

60

50 A

40 1

30 A
20

10 1

0 T T T T T 1

A B C D E F
MR 94 2012 H HUN B &1 M 40 R 3UY ofY, A1 9 99 gqH1 I foan on?
1) 24 99 . 2) 25 99 3. 3) 30 9Ig . 4) 32 ARG 3. 5) T ¥ PIS T8
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Directions (Q. 116-120): Five different companies A, B, C, D and E make two items I and I1. The total number of items

produced by these five companies is 80 thousand. The cost of production of each item is Rs 5000. The percentage distribution
of the total production by these companies is given in the following pie-chart and the table shows the ratio of production of
Item I to that of Item II and the percentage profit earned by these companies on each of these items.

116.

117.

118.

119.

120.

E
36°
D A Ratio of production Per cent Profit eamed
90° Company
54° Item I Item 11 Item I Item II
A 2 3 20 15
c B 1 2 25 30
790 B C 2 3 10 12
108° D 3 2 15 25
E 4 1 30 24
What is the profit earned by Company C on Item I1?
1) Rs 57.6 lakhs 2) Rs 55.4 lakhs 3) Rs 56.8 lakhs 4) Rs 54 lakhs 5) None of these
What is the total cost of production of Item I by companies A and B together?
1) Rs 5 crores 2) Rs 6 crores 3) Rs 8 crores 4) Rs 9 crores 5) None of these

What is the total of the profit earned by Company E on production of Item I and the profit of Company D on production
of Item I1?
1) Rs 1.56 crores 2)Rs 2.2 crores 3)Rs 1.3 crores 4)Rs 2.6 crores 5) None of these

What is the ratio of the cost of production of Item II by Company A to the cost of production of Item I by Company E?
1)17:12 2)4:5 3)7:4 4)15:8 5)1:2

The cost of production of Item II for Company E is what per cent of the cost of production of Item I for Company A?
1) 80% 2)20% 3)60% 4)75% 5)40%

Directions (Q. 121-125): In the following graph, the percentage profit earned by six companies during three years

2011, 2012 and 2013 is shown. Answer the following questions based on this graph.

121.

80 1
70 66
60 A
50 A
40 A
30 A
20 A

10 A

—e— 2011 —a—2012 —Aa— 2013

70

0 T T T T T 1
A B C D E F

Ifthe income of Company B in the year 2012 was Rs 40 lakhs, what was its expenditure in that year?
1) Rs 24 lakhs 2) Rs 25 lakhs 3) Rs 30 lakhs 4) Rs 32 lakhs 5) None of these
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124.

125.
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TR g9 2011 & ®UN C &1 FI 57 <R BUQ o1, a1 SO 99 g 3T T AN?
1) 75.8 @9 . 2) 76.8 9RE . 3) 77.8 @@ 3. 4) 78.8 9E . 5) 79.8 &g .

TR g9 2013 5 HUN A 3R U B Bl AR Gt 37 136 A 2. 21, A1 99 &A1 U] B S9 aY Hol aF a1 AT?
1) 86 &g . 2) 96 &G . 3) 106 &G .
4) 116 a9 3. 5) fgiRa =& fdar s |

¥ 2013 § HUN D BT 19 9 ARG TUT o, A S 99 § D! A fhadr o?
1) 30 @ <. 2) 39 g <. 3) 40 dTE . 4) 49 G %. 5) T ¥ DIS T8

Ife a9 2012 R 2013 H S B & &7 a_1&R 9, A1 99 2012 3R 2013 7 SUN B 37[T PT U FT oA7?
1)7:5 2)6:7 3)8:7 41:1 5) s | BIg T

fAde (0. 126-130): v afifat sfaw § Fenfda o g 9@ 1800 1 faf= 9™l # sie &9 a

faenféfai @1 ufdera urs-= 4 St T R QIR URAS AB™ H Al SR Asfbdl o1 sgur <ua A faw W ¥ 3N W
snufRa frfafa gedl & s dfvm)

126.

127.

128.

129.

130.

22

dAP dsa | adsfear

PR fas 5 3
ATl 3 1
ESIESET] 3 2
IRIER] 13 12
TAIHR B 3 7
M. 7 8

Bieial H AT PR @ ASihdl B Bl TN fha 8?

1) 801 2) 803 3) 805 4) 807 5) 809

PRI A9 FBr H U drell sfhdl @ dw SH 9hR & [Genddl @ ga S B Fa fedH ufiee 57
1) 35% 2) 37.5% 3) 40% 4) 42.5% 5) 45%

IS ¥ FEIIT TR I8 ASHI B B TN IR AS(BA B Bl AT & d1d BT R FT 87?
1) 146 2) 156 3) 166 4) 176 5) 186

FHREX faEH # ugq ardl dsdl @ T Sl GhE H ugH drell asfhal @ dwn ¥ fha ufoera s 87

2 1 2
1) 60% 2) 64% 3) 653% 4) 663% 5) 72%
Solfdgde TH™ H UeH dlel dsdl &l Il AR Rfdd # ue drell sfhal & A= & 91 &1 U R’ 87
1) 31:33 2)33:31 3)31:32 4)32:31 5) 3 A BIE &
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If the expenditure of Company C in the year 2011 was Rs 57 lakh, what was its income in the same year?
1)Rs 75.8 lakh 2)Rs 76.8 lakh 3)Rs 77.8 lakh 4)Rs 78.8 lakh 5)Rs 79.8 lakh

If the total income of Company A and Company B together in the year 2013 was Rs 136 lakh, what was the total
expenditure of these two companies in that year?

1) Rs 86 lakh 2)Rs 96 lakh 3)Rs 106 lakh 4)Rs 116 lakh 5) Can’t be determined
Ifprofit of Company D in the year 2013 was Rs 9 lakh, what was its income in the same year?
1) Rs 30 lakh 2)Rs 39 lakh 3)Rs 40 lakh 4)Rs 49 lakh 5) None of these

Ifthe expenditures of Company B in the year 2012 and 2013 were equal, what was the ratio of its income in the year 2012
tothatin 2013?

)7:5 2)6:7 3)8:7 4H1:1 5) None of these
Directions (Q. 126-130): In an engineering college, the total number of students is 1800. The percentage of students

studying in different streams is shown in the given pie-chart and the ratio of boys to girls in each stream is given in the table.
Answer the following questions based on the given information.

126.

127.

128.

129.

130.

Specialisation Boys Girls
Computer Computer Science 5 3
SCIT nee Mechanical 3 1
13—% Electrical .
2 cetrica Electrical 3 2
2y —
17 5 % Civil 13 12
Meohaisal Tele Communication (TC)
7 IT 7
17—=%
9
What is the total number of girls studying in the college?
1)801 2)803 3)805 4) 807 5)809

The number of girls studying in Computer Science is approximately what per cent of the total number of students in the
same branch?

1)35% 2)37.5% 3)40% 4)42.5% 5)45%

What is the difference between the total number of boys and the total number of girls studying in the college?
1) 146 2) 156 3) 166 4)176 5)186

The number of boys studying Computer Science is what per cent more than the number of girls studying in the same
branch?

2 1 2
1)60% 2) 645% 3) 655% 4) 665% 5)72%

What is the ratio of the number of boys studying in Electrical to the number of girls in Civil?
1)31:33 2)33:31 3)31:32 4)32:31 5) None of these
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e (9. 131-135): FA=foa Sufawfoa ue ©: Rl 3t S9E (A ¥§) iR 9dd =R | |eER dfl 3 gfiiea
P guifar 81 39 Il R 3nenRa A=fefa =i & SswR S|

100

90 A 86
80

92

80 -
70 1 64
60 - 56

50 44
40 1
30
20 7 64% 50% 0% 46%
10 1

O T T T T T 1
BT g1 ge NEl EaGEN ESIE
S+ ATH 99 IR AT &1 ufaee Soiar § St GRerRl Aibs) | g1
45 1

(ar@ #)

40 40
35 - 32

30
l%30—

B 25
E
EZO'

€ s -

22 20 18

10 A

5_

O T T T T T 1
PIeT g geH NEIl BEYR ESIN

131. M & 99 AN B G fha @ Sl WeR € SR ARGRI ARl 7 87

1) 677600 2) 619200 3) 800000 4) 925600 5) T ¥ BIE TE
132. el & @l AER ANl 3R T8 PRI ABRA] § DRIRG FeR ANl Dl AT Bl JJU FT 87

1s5:1 2)4:1 3)3:1 4)2:1 5) T ¥ DIS T8
133. BEYR § I AN B G fbal 8 S WeR A1 €, W WP ArbRAl § T 87

1) 2965520 2) 2989600 3) 2756420 4) 2877760 5) T ¥ BIE TE
134, ¥ B wERl H W WeR Al 9 o we fha g S e AreRar § g2

1) 7692540 2) 6369440 3) 6572900 4) 6425490 5) T ¥ BIE TE
135. e H 99 AN BT UG 12 S W) ADRA H 8 (I8 371 gon 8 P #Ig W FReR @fad R A H

el B 1)

1) 80% 2) 50% 3) 40% 4) 20% 5) 10%
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Directions (Q. 131-135): Following sub-divided graph shows the population of six cities (in lakhs) and the percentage

of literate people in each city. Answer the following questions based on these graphs.

131.

132.

133.

134.

135.

100 A 90
90 4 86
80

80 A
70 1 64
60 56

50 1 44
40
30

(in 1akhs)

20 64% 50% 0%,
10

O T T T T T 1
Kota Pune Patna Ranchi Kanpur Chandigarh

The line graph shows the percentage of literate people who are in government job.

45 7

40 - 40

32

(98]
W
1

30

N (O%)
W S
1 1

” 20

[\
S
1

18

% Literate People

—_ —_
= W
1 1

W
1

Kota Pune Patna Ranchi Kanpur Chandigarh

What is the number of people in Ranchi who are literate and in government jobs?
1) 677600 2)619200 3) 800000 4)925600 5) None of these

What is the ratio of the total literate people in Patna and the number of literate people there in government jobs?
DS5:1 2)4:1 3)3:1 4)2:1 5) None of these

What is the number of people in Kanpur who are literate but not in government jobs?
1)2965520 2)2989600 3)2756420 4)2877760 5) None of these

What is the total number of literate people in all six cities who are in government jobs?
1) 7692540 2)6369440 3) 6572900 4) 6425490 5) None of these

What is the percentage of people in Patna who are in government jobs (It is given that no illiterate person is in govt
jobs)?
1)80% 2)50% 3)40% 4)20% 5)10%
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139.
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e (v. 136-140): 3 9w A § 15 Tfcre w® snalRa ¥

frma auf & dRME 6 FUMRF A sHEEA R SAfed avgell I wEm (A H)
3R srdiepd avgsil @1 ufdea fama ad 2008 & 2013

TS A B C D E F

g | S| | % [San| % S| % [Ssen | % [Ssan| % | Ss|nn| %
2008 131 1.5 85 1.1 39 1.3 169 1.8 156 14 92 0.8
2009 149 2.2 64 0.7 48 0.8 182 2.4 148 2.1 98 1.1
2010 107 1.2 76 0.9 56 1.1 175 2.2 184 1.7 88 09
2011 112 0.8 101 1.2 52 14 142 2.5 179 1.8 80 0.7
2012 142 1.8 92 0.85 63 09 190 1.9 160 2.2 76 1.0
2013 120 1.4 89 1.2 71 1.25 188 1.7 168 1.9 95 1.2

I, = I, % = FREDia axgAl P1 uferd

e g 2009 ¥ RGBT RGAT B AAT I T GGU 99 & T3 1, A BIs B AR D gR1 9 TS A B q
qen qan oAr?
1) 21418400 2) 2141840 3) 541184 4) 24118400 5) ST 9 BIg T

Pl A §RT 9 2008 H IRdIdbd a3l @I AT 31 a9 H Sl D gRI 3RAIHa a3l Pl AT DI 149 el
gfcrerd 87

1) 65 2) 155 3) 135 472 5)75

PIF—H g4 H 3h1s C §RI SRADT Bl g aGAT DI G1 AHad of?

1) 2012 2) 2010 3) 2013 4) 2011 5) S 9 PIg T
QU U auf & foy S A §RI AIGT I3l B Bl d=AT a1 1?

1) 1169500 2) 1165900 3) 116950 4) 116590 5) 574 A PIg TE
¥ 2011 ¥ 9 SHISA GRI SRIGd &I T I3l & Af~ibe ufoerd = 27?

)12 2)2.4 3) 1.8 4)0.8 515

fAde (v, 141-145): fA=fafa S #1 ofey iR 9 ford we=i @ SR S :
1000 @Il & ATBR B A& W U Fd b1 a1 | Ur 1 b 17.7% Al 1 37e], g AR 7ol 4 9 s A1 wde

T8 81 21.1% A dadt Ji AR 10.1% AT dael A8l q6E IR & | 43.9% A B ST T 8 | 7.2% A @l gai 3R
B UG 8 WR ST T8l | 28.9% WM Bl 7SI Y& 8, W 8l 781 | 46.3% N B I 0E 8 3R 13.7% AN PI dHad

3T TN B
141. &g J71 9T B Tl AN Dl AT AT 57
1) 137 2) 152 3)211 4) 289 5) 439
142. %9 UP UBR P AR GFET (A0, FST 3R J1 H A) UHE B Tl Al Sl G a1 8?
1) 439 2) 449 3) 463 4) 469 5) 57 | BIS T
143. W a9 @M € Sl BH-9-$H a1 YR H IET (AS, 37T 3R 1 H H) 48 B o7
1) 439 2) 463 3) 441 4) 396 5) 374
144. T AN H G T B S badd Y AT &l UBR P T (WS, ST 3R J1 § ) THE PR 87
1) 795 2) 805 3) 815 4) 825 5) 835
145. YH AN @1 G 91 B S "l JMR ST UHE aRd g WO TE?
1) 137 2) 152 3) 150 4)122 5) 236
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137.

138.

139.

140.
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Directions (Q. 136-140): These questions are based on the table given below.

Number of items produced (in lakhs) and percentage of items rejected of
the units of 6 companies over the years 2008 to 2013

Units A B C D E F
Years | Prod. % Prod. % Prod. % Prod. % Prod. % Prod. %

2008 | 131 1.5 85 1.1 39 1.3 169 1.8 156 1.4 92 0.8
2009 | 149 2.2 64 0.7 48 0.8 182 2.4 148 2.1 98 1.1
2010 | 107 1.2 76 0.9 56 1.1 175 2.2 184 1.7 88 0.9
2011 | 112 0.8 101 1.2 52 1.4 142 2.5 179 1.8 80 0.7
2012 | 142 1.8 92 0.85 63 0.9 190 1.9 160 2.2 76 1.0
2013 | 120 1.4 89 1.2 71 1.25 | 188 1.7 168 1.9 95 1.2

Prod. = Produced, % = Percentage of rejected items

Ifall the items except rejected items were sold in the year 2009, what was the total number of items sold by Units B and
D?
1)21418400 2)2141840 3)541184 4)24118400 5) None of these

The number of rejected items by Unit A in the year 2008 is approximately what per cent of the rejected items of Unit D in
the same year?
1)65 2)155 3)135 4)72 5)75

In which year was the number of items rejected by Unit C the maximum?
1)2012 2)2010 3)2013 4)2011 5) None of these

For the given years, what was the total number of items rejected by Company A?
1) 1169500 2) 1165900 3) 116950 4)116590 5) None of these

What is the approximate percentage of items rejected by all the units in the year 2011?
1.2 2)2.4 3)1.8 4)0.8 5)1.5

Directions (Q. 141-145): Read the given information carefully to answer these questions:

A survey is conducted on 1000 people to find their food habits. It is found that 17.7% people don’t like anything out of

egg, chicken and fish. 21.1% people like only chicken and 10.1% people like only fish. 43.9% people like egg. 7.2% people like
chicken and fish but not egg. 28.9% people like egg but not fish. 46.3% people like chicken and 13.7% people like only egg.

141.

142.

143.

144.

145.

What is the number of people who like only chicken?
1)137 2)152 3)211 4)289 5)439

What is the number of people who like only one kind of non-veg food (in fish, egg and chicken)?
1)439 2)449 3)463 4)469 5) None of these

How many people are there who like at least two types of food (in fish, egg and chicken)?
1)439 2)463 3)441 4)396 5)374

What is the number of people who like only one or two types of food (in fish, egg and chicken)?
1)795 2)805 3)815 4)825 5)835

What is the number of people who like fish and egg but not chicken?
1)137 2)152 3)150 4)122 5)236
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fAder (. 146-150): fA=fefa e #1 ufer iR <A o we=i @1 SR v -
TP AP H &l URAR (BYR 3R W) T4 © | SR URAR ¥ 12 A& © | 39 URAR ¥ Y9 U9 Afgell Wal Bl U

2: 1% uRaR H geai vd 9T B AW B AU 1 : 2 81 39 URAR H A AR Srs € AR TH q1feral 2 |

G URAR ¥ 15 G € | YO AW B A Al ARl B T | Y ¢ | GRAR H dSh] DI GAT Afersii

P AT F RIIR B | AP B AT TSl Bl = BT 40% B |

146.

147.

148.

149.

150.

28

9 7P P FERE § F 10 TU% goul T4 2 gID AR B TP At fha e A a9 S gl 87
1) 10 2) 15 3)20
4) 32 5) STH ¥ @13 Al

IS R BT VP FHE 101 ST & FoRPT U URaR ¥ 2 9% U4 2 §2d 8l | fard 9g fha bR | Rl
ST el 8?

1) 98784 2) 79380 3) 1113

4) 2226 5) T 9 PIS T8

9 B A 2 dAS(BAl, 2 FeH Td 2 I ARASN Bl U A [ha UHR A AT S Fhdl 57
1) 1260 2) 630 3) 2520

4) 1890 5) 5 & B T

T% IRAR | U doa1 UF d BRITHA @ oIy I9=6d g1 AIdl & | 78 BRi%H & forg g e vd Aifed =,
@ g AN B a1 uiiiedr g7

1 u u
D 14 2) 15 3) 28
1 . )
4 25 5) g9 A BIg T

HHH H I8 T2 18 YU WaRl § ¥ Uh [REHR & forg A9 &1 g1 1 8 | 91 Wifiedr @ fF ReeR @ oy va agr
3R &1 @RI P11 Sl 8?

3 15 15

1) Z 2) 17 3) 34
33 . .

4 o3 5) gTH A BIg T
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Directions (Q. 146-150): Read the given information carefully to answer these questions:
There are two families (Kapoors and Khannas) in a building. In the Kapoor family, there are 12 members. The ratio of

number of male to female members in the family is 2 : 1. The ratio of the number of children to that of adults in the family is
1 : 2. There are three married couples and one girl child in the family.

In the Khanna family, there are 15 members. The number of male members is double the number of female members. The

number of boys is equal to the number of females in the family. The number of girls is 40% of the number of boys.

146.

147.

148.

149.

150.

In how many ways can a committee of 10 men and 2 women be formed from the residents of the building?
1)10 2)15 3)20
4)32 5) None of these

A group of 8 members is to be formed in which there are 2 adults and 2 children from each family. In how many ways can
the required group be formed?

1)98784 2)79380 3)1113
4)2226 5) None of these

A group of 2 girls, 2 boys and 2 women from the building can be formed in

1) 1260 ways 2) 630 ways 3) 2520 ways
4) 1890 ways 5) None of these

One child is selected at random for a dance performance from each of the families. What is the probability that Neetu
Kapoor and Mohit Khanna are selected for the dance performance?

1 ! 2 = 3 1

) 14 ) 15 ) 28
1

4) 2% 5) None of these

Out of the 18 male members residing in the building, three are selected for a prize. What is the probability that one Kapoor
and two Khannas are selected for the prize?

1 > 2 B 3 L

) 4 ) 17 ) 34
33

4) @ 5) None of these
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YIATdell IV
dJaerfaa sfaTaan

e (9. 151-155): Ry ¢ yw=i & SR 27 @ fow Feafof@ gan &1 siemga difsg)

Ue fd g5 W91 # *Anna is great social activist of India’ @1 ‘bee lee nee yee jee pee tee’ & w0 H forean STl 2, ‘India is
great country’ @1 ‘pee lee yee dee’ & U H foltal ST &, ‘corruption free country’ @1 ‘oee dee vee’ & U # oIl 9Tl &, ‘Anna
is old’ T ‘jee lee fee’ & U # for@n ST 2 31 ‘remove corruption India’ @1 ‘vee pee loo’ & w4 # foran SI7dm 7 |

151. ‘corruption’ & fog He w1 77
1) dee 2) oee 3) vee 4)loo 5) 3TH | BIg T

152. ‘Anna remove corruption India’ & folg @ =1 § &1 @1 287
1) loo pee jee dee  2) vee jee loo nee 3) pee loo tee jee 4) jee vee pee loo 5) s 9 BIE TE

153. ‘Anna make corruption free country’ & HIfdd §c 91 § § HIF &8 AHT 87
1) dee vee oee jee pee 2) noo jee oee dee vee 3) vee oee dee nee pee 4) jee vee oee dee lee 5) STH A HIS &

154. ‘nee’ foas foru amar 87

1) social 2) activist 3)of 4) great 5) fetRa 721 o= Fad
155. @ ‘nee bee jee lee tee pee’ & gRT =1 # & fow efia fear Siar 27

1) Anna is great social activist India 2) Anna is remove corruption free country

3) Social activist great of country India 4) Anna is social activist of India

5) 5T & e T

A (9. 156-157): 771 o 3§ @ IR &0t yoR @ e 99 § 3R sHferT Ue 9YE 99K €1 98 TP P 8 o 99E
A wafa @ '?
156. 1)aGeNCY 2) BeNeaTH 3) JuMPeR 4)eSTiMaTe 5)NEuTRoN

157. 1)F6R18 2)H8 015 3)LI12K 11 4)U21 W23 SP15Q17
ke (. 158-160): Ry 7@ yedi & SR 7 @ fou F=fofa gam &1 srmw Iy

A+B®r 3R g ‘A, B®THE & |
A xB®r 3 ‘A, BT fuar 27
A-B®r el ® ‘A, B® 989 7|
A+B@d i g ‘A, Bal #i 2|

158. ‘Ao g Car & for & ¥ &9 fawefia oear 27

HA=X+YxC 2)D+A+B+C 3)D+A+QxR+C 4)C+PxQ-A 5) T4 | BIS T
159. afd ‘A @1 8 R &I, A1 UHRIg & IF W a1 AI?

AxQ+T?20+R

1)+ 2)- 3)x 4)+ 5) g & BIS TG
160. =1 # A et arf 8 T #4191 8V @12

DT+U+V )T+U+V 3HT+U-V HT=+V+U 5) T F B TE

e (u. 161-165): 1 Ry v yA® yed ¥ IR a1 @9 HA 3R S 91 IR A1 §1 ey Ry ww &1 Ry 1w
FHAl B I A WA & I GER 9l 9 A9 uda @9 8@ R Pvfa R e wn e/ fAsed weEl &1 aifde
Y A IFFANU BT/ B/E
161. @ : O "ol WFY &1 HB AFI IS T i P A9 B | a4 AT ug E |

fepy : I @ 9y Uy ¥ IL 91 31 uy € | 1L §B #wofodi @IS 1 IV. §B 9179 WY & |

1) ®ad 1, I 3R IV R0 axd & 2) dad I, 11 3R 111 IR0 axd & 3) daa 11, 1T iR IV a0 axd B

4) |1 AR FRA B 5) 3TH A BIg T
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Test IV
Reasoning

Directions (Q. 151-155): Study the following information to answer the given questions.

In a certain code language, ‘Anna is great social activist of India’ is written as ‘bee lee nee yee jee pee tee’, ‘India is
great country’ is written as ‘pee lee yee dee’, ‘corruption free country’ is written as ‘oee dee vee’, ‘Anna is old’ is written
as ‘jee lee fee’ and ‘remove corruption India’ is written as ‘vee pee loo’.

151. What is the code for ‘corruption’?

1) dee 2) oee 3) vee 4) loo 5) None of these
152.  Which of the following is the code for ‘Anna remove corruption India’?

1) loo pee jee dee  2) vee jee loo nee 3) pee loo tee jee 4) jee vee pee loo 5) None of these
153.  Which of the following may be the possible code for ‘Anna make corruption free country’?

1) dee vee oee jee pee 2) noo jee oee dee vee 3) vee oce dee nee pee

4) jee vee oee dee lee 5) None of these
154. What does ‘nee’ stand for?

1) social 2) activist 3)of 4) great 5) Can’t be determined
155. Which of the following is represented by the code ‘nee bee jee lee tee pee’?

1) Anna is great social activist India 2) Anna is remove corruption free country

3) Social activist great of country India 4) Anna is social activist of India

5) None of these

Directions (Q. 156-157): Four of the following five are alike in a certain way and hence form a group. Which is the one
that does not belong to that group?
156. 1)aGeNCY 2) BeNeaTH 3) JuMPeR 4) eSTiMaTe 5)NEuTRoN

157. 1)F6R18 2)H8 015 3)L12K 11 4)U21 W23 S5)P15Q17

Directions (Q. 158-160): Study the following information carefully and answer the given questions.

A + B means ‘A is brother of B’.
A x Bmeans ‘A is father of B’.
A —Bmeans ‘A is sister of B’.
A +~Bmeans ‘A is mother of B’.

158.  Which of the following represents ‘A is cousin of C’?

DA+=X+YxC 2)D+A+B+C 3)D-A+QxR+C 4)C+PxQ-A 5) None of these
159. What will come in place of question mark(?) if ‘A is paternal grandfather of R’?

AxQ+T?0+R

D+ 2)— 3)x 4)+ 5) None of these

160. Which of the following means ‘T is maternal uncle of V’?
HT+U+V 2)T+U+V HT+U-V 4HT+V+U 5) None of these

Directions (Q. 161-165): In each question below are given four or three statements followed by four or two conclusions.
You have to take the given statements to be true even if they seem to be at variance with commonly known facts and then decide
which of the given conclusions logically follows from the statements, disregarding commonly known facts.

161. Statements: Some fishes are reptiles. Some reptiles are insects.
All insects are humans. All humans are animals.
Conclusions: I. Some reptiles are animals. II. Allinsects are animals.
II1. Some fishes are insects. IV. Some humans are reptiles.
1) Only I, ITand IV follow 2) Only I, IT and III follow 3) Only II, IIT and IV follow
4) All follow 5) None of these
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162. ®UF : B G bl T | Bt wel ¥ | BIE Bl 4o TE B | B 99 o B
fpd : LGB Bod o ¥ | 1. §5 o< Bferar & | L B & Bferai €1 V. BB % ofe 81 2 |
1) @ad 1 R 11 38R0 axd & 2) ddat 11 3R 111 3gER0 axd & 3) dadt 111 3R IV 3FER0 axd &
4) &9 1 R IV AR axd & 5) 399 | BIg 78

163. oM : F[B ddoc Rge 21 FB Awme 36 2| T Bh g E | T[O U @Il B |
e : L @B @ 36 T Il. 3% Are &6 981 81 1L §B 36 dideic &1 V. $8 g fRge 2 |
1) @aa [ 3R I gaRY &=d & 2) dacl [ 3R [V AR -l & 3) dadt a1 al 1 a1 11 FFARYT &Rl 8
4) @aet IV &Ik a1 a1 1 31 11 S8R0 &R § 5) T ¥ PIS T8

164. U : HB U FIOAT F | o FIfR el g U U9 T8 B
e : L go @il 99 2 IL. ©5 @1y o 9fRrel 2, 99 2
1) &ad 1 el ol 8 2) @ad 11 FFE IRl & 3) @ad 1 iR 11 AT IR &
4) BIE AT TE BT B 5) 3T | PIE TE

165. @A : {B PR AU T | T[TO R I T | T[TO PR TP T |
fAepd : L 90 R SN W1 & AT ¢ B | II. ®1S ¢F 99 T &l
1) ®gal 1 SR 11 gAR0T &R € 2) dadl | AFARYT PRall & 3) @adl A1 a1 a1 11 a0 FRal 8
4) BIE IFAOT TE BT B 5) T | PIE TE

fAde (m. 166-170): F=fafea Yo &1 w@uYds e Hifve ik R Ry v ge=l @ SR 4R

3me 7 A, B, C, D, E, F, G 3R H qx9 ¥ uf¥=ad @1 3R S dlel U TTell & a1 fhaRi R Rerd & i uda
fPIR W® IR AHE 2|

Uh PR R Red Id® AdM gAY R W Red U d6M & SId A 8 | TP AHH Bl SHalg -3 & |
AE HdT ABE fhdl i 3iftH BR R T 8 T 8 SHBI SUHRT SR Bl 3R B | A D WY BITT 8 3R U8 7 F &
Bp AT © RTHdT AR TR &1 3R 8| 9o E dad #6F B ¥ BIEl § 3R SHGT AR T &F 3R 8| 7 F
AHE A 4 A1 ® oifed dadd E 3k B & Bicl &1 96 H 96 C & db A & TGd1 SHrT Sféror @) iR 8 | Jdrd
GH®ME D & 9V TRT 8 R A & 91¢ §&R1 & | 96 G 96 C H $d1 & o Ad H & BITT 8, Sl #6M A I BITT
2

166. HIF-AT HBH dad D T 1 87

1) G 2)C 3)H 4) SreT Ui B 5) 37 | BIg T
167. fbdw 7H A & 9 &2

1) 3 2)2 3) 4 4) SreT U B 5) s | BIg T
168. 7™ E & S A DIF-91 THH 87

1) H 2)G 3)A 4) SreT U ¥ 5) s | PIg T
169. F=forRad & & 7@l & P-4 g P AR faror fawm # &7

1) BHEF 2) BCEA 3) BEFD 4) STeT AT 7 5) T ¥ PIS T8

170. F & TN &R WIF R HIF-A1 9B 57
1) E 2)B 3) A 4)C 5) s q B T8
fAder (w. 171-175): 39 we=i ¥ A9 @ual @ §9 &1 Hay w2 § 9 R 21 39 BUHEl B oA O ey
g1 9f weEl B dfey SR R FAvia P 5 s fad w1 FoAl 1 Ry Fa 7

171. w24 : A <B, D < (C, B=C
fed : L D<B II. A=B . C>A
1) @ad 11 FFE FRaT & 2) ®aadl 1 SR I 3FER0T &=d & 3) dadl | AR dRal ©
4) Faat 111 STARYT Rl & 5) P AR e BRAT B
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Some flowers are buds.
No fruit is a seed.
Conclusions: I. Some fruits are flowers.
II1. Some fruits are buds.

162. Statements:

All buds are fruits.

Some seeds are roots.

II. Some roots are buds.

IV. Some fruits are not roots.

1) Only I and II follow 2) Only II and I11 follow 3) Only Il and IV follow
4) OnlyIand IV follow 5) None of these
163. Statements: Some chocolates are biscuits. Some biscuits are cakes.

All cakes are cones.
Conclusions: I. Some cups are cakes.

II1. Some cakes are chocolates.
1) OnlyI and I1I follow
4) Only IV and either I or II follows

Some cones are cups.

II. Nocup is a cake.

IV. Some cones are biscuits.
2) OnlyIand IV follow

5) None of these

3) Only either I or II follows

164. Statements: Some pens are copies. Some copies are pencils. No pencil is a pen.
Conclusions:I. Some copies are pens. II. Some copies that are pencils are pens.
1) Only I follows 2) Only II follows 3) Only I and II follow
4) None follows 5) None of these

165. Statements: Some cars are jeeps.
Conclusions: I. All cars are jeeps or buses or trcuks.
1) Only I and II follow

4) None follows

Some cars are buses. Some cars are trucks.
II. No truckis a bus.
2) Only I follows

5) None of these

3) Only either I or II follows

Directions (Q. 166-170): Study the following information carefully and answer the questions given below.

Eight houses A, B, C, D, E, F, G and H are located on either side ofa lane running from east end to west end with four in

each side.

Each house on one side is located exactly opposite to a house on the other side. Each house has a different height. The

tallest house is not on any of the ends nor it faces north. House D is the smallest and is exactly opposite to House F which faces
south. House E is smaller than only House B and faces south. House F is taller than House A but smaller than only E and B.
House H is exactly opposite to House C which faces south. House G is third to the left of D and second to the left of A. House
G is taller than House C but smaller than H which is smaller than A.

166.  Which house is taller than only D?

DG 2)C 3)H 4) Data inadequate 5) None of these
167. How many houses are taller than A?

3 2)2 3)4 4) Data inadequate 5) None of these
168. Which house is exactly opposite to house E?

)H 2)G A 4) Data inadequate 5) None of these
169. Which of the following groups of houses faces south?

1) BHEF 2)BCEA 3)BEFD 4) Data inadequate 5) None of these
170.  Which house is second to the right of F?

)E 2)B A 4)C 5) None of these

Directions (Q. 171-175): In these questions relationship between different elements is shown in the statements. These
statements are followed by three conclusions. Read both the statements and then decide which of the conclusions follows
from the given statements.

171. Statements: A<B, D < C, B=C
Conclusions: I. D < B II. A=B L. C>A
1) Only II follows 2) OnlyI and I1I follow 3) Only I follows
4) Only III follows 5) None follows
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®H : E <D, F=G, E>F

fwpd : L G<E II. F<D . D>G

1) @aa 1 R 11 380 &d & 2) dadl 11 3R 11 380 &xd & 3) dael 1 3R 111 &R0 a-d 8
4) BIE AT TE BT B 5) 3T | PIE TE

®ad : H<I I>H G=H

fpd : L J>G II. H<J . 1>G

1) @ad 11 FFE IRl & 2) @ad 1 iR 11 80 & & 3) ®ad 111 AFARYT BT B
4) @aet 11 3R III IR0 &A & 5) 399 A PIg Aal

wod : J <K, K>L L=M

fspd : L J<L II. M>K . M=>J

1) Bad [ IR0 FRAT © 2) &ad I IRV BRAT B 3) ®ad [11 AFARYT BT B
4) PIS AFARVT T8 BAT B 5) T SFARYT BRI ©

®aH : M=N, N>0, O=2P

fpd : L M>P II. P<N III. O <M

1) @aa [ 3R 11 a0 &xd & 2) dael 11 &R 111 38R0 &xd & 3) dael 111 S8R0 Fxal @
4) |t AR FRA B 5) T ¥ PIS T8

ks (9. 176-180): < v uw 3w w1 @ s e aR & 1 11 3R 111 Ry v &) g\ &1 Sw &0 &

a1 fde Ry gu weM @1 A HRA gU R o " (@ T8 R s wean) @1 osmust Fvia w3 @ B s wemi A
A B FAA QY MY 9w &1 IR 31 & forg W@ 71 9 Rfven &1 g Fifow|

176.

177.

178.

34

ard R C, O, R, T,Y, [3RV & | dadd A1d HeRT b1 G IR = BrIdrd) o)1 & dig 9+ drell g T 57

L RH VS W UiEd 1H R & ol 8] C ART S A1 @ RAT VS I 918 T2l @1 1l 2 |

IL I3 C% gid d91¢ @ 91 & Ifd 98 R $1 Fias gsil 981 81 OB Y & d1¢ ¥R WIF R @ o7l 8 |
ILI3R O S & R & g3 918 &1 o7l 2 |

D) @ad [R I Ue9 & SR &7 & fog waia & |

2)FBaA [FR T & SR &7 & forg waie & |

3) daa AR I T & SR <9 & forg gafe 2|

4)1, TR a9 U9 & SR o9 & forg ifart 2|

5) L IRIR I & w12t Wl U39 &I IR Fa1 Qa1 S Al |

T HT W H ‘season’ P DY dTdg [bdl ST 57

I ‘rainy season is too beautiful T ‘lo ke pe zo go’ 3fR ‘climate too cool’ I ‘ke al me’ & w4 ¥ dedg fhal S 2 |
Il ‘winter season is chilling’ @1 ‘zo go ye te’ 3R ‘winter chilling’ @1 ‘te ye’ & ®U H Hedg fbar Sl 2 |

IIL “enjoy the weather’ @1 ‘be ce da’ iR ‘weather are beautiful’ @1 ‘da fe pe’ & ®U § dedg a1 ST & |

) B9 IR TH & IR a7 & forg yafa 2|

2) dad AR U & IR a7 & forg wafe & |

3) B IR U & SR 39 & forg wafe 2|

4) LIIRIM A g & IR a9 & forg ffard 2|

5) LIISRII & 1 9l Ued &1 SR @l AT S |ehe |

B8 1 M, N, 0, P,Q3R RU& IR 7l & fIg 98 2 iR 9 491 & &= ! 3R 48 by gU & | MR O & 9=
PIT ST B?

L MAHT NS AR OF™H 8 R, ot & M@ gRd aN & |

IL Q@ AN 8O &, o 6 M &1 fpead gl 781 2 | P dveas usieil & N iR R &1 |

NLPEFA Q& IROTF s RFIOTPWAIN & PH AR MS qU gIRT 8, &l P& &S B

) B9 IR TH & IR a7 & forg yafa 2| 2) ®ae I1 U &l IR o7 & oy gaia 2|

3) dad ISR I ¥e & IR a7 & forg g 2 | 4) 1, R | U1 & SR 39 & forg ffard 2 |

5) LISRIIL & | Wl yed & IR 78l a1 51 | |
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Statements: E <D, F=G E>F

Conclusions: 1.G < E II. F<D L. D>G

1) Only I and II follow 2) Only II and I11 follow 3) OnlyI and I1I follow
4) None follows 5) None of these

Statements: H<I, I>H G=H

Conclusions: I. J > G I.H <J om. 1> G

1) Only II follows 2) Only I and II follow 3) Only I follows
4) OnlyII and III follow 5) None of these

Statements: J < K, K=>1L, L=M

Conclusions: I.J < L II. M>K Im. M >1J

1) Only I follows 2) Only II follows 3) Only I follows
4) None follows 5)All follow

Statements: M =N, N>O0, O=>P

Conclusions: 1. M > P II. P<N III. O<M

1) Only I and II follow 2) Only II and I11 follow 3) Only III follows
4) All follow 5) None of these

Directions (Q. 176-180): Each of the questions below consists of a question and three statements numbered L, IT and 11T

given below it. You have to decide whether the data provided in the statements are sufficient to answer the questions. Read all
the three statements and give answer

176.

177.

178.

There are seven letters, C, O, R, T, Y, I and V. What is the word formed after performing the following operations using
these seven letters only?

L Risplaced fifth to theright of V. C and T are not placed immediately next to either R or V.

I Tisplaced tothe immediate left of C but is not an immediate neighbour of R. O is placed second to the left of Y.

IIL. Both T'and O are placed immediately next to R.

1) OnlyI and III are sufficient to answer the question.

2) Only I and II are sufficient to answer the question.

3) Only IT and IIT are sufficient to answer the question.

4) All 1, IT and I1I are required to answer the question.

5) Question cannot be answered even with all, I, II and III.

How is ‘season’ coded in a code language?

L ‘rainy season is too beautiful’ is coded as ‘lo ke pe zo go’ and ‘climate too cool’ is coded as ke al me’.
II. “winter season is chilling’ is coded as ‘zo go ye te’ and ‘winter chilling’ is coded as ‘te ye’.

IIL ‘enjoy the weather’ is coded as ‘be ce da’ and ‘weather are beautiful’ is coded as ‘da fe pe’.

1) OnlyIand II are sufficient to answer the question.

2) Only Il and III are sufficient to answer the question.

3) Only III and I are sufficient to answer the question.

4) AllL Il and III are required to answer the question.

5) Question cannot be answered even with all I, II and III.

Six friends, M, N, O, P, Q and R are sitting around a circular table and they are facing towards the centre of the table. Who
sits between M and O?

L Misfacing Nand O is facing R, who is on the immediate left of M.

II. Qison the immediate left of O, who is not an immediate neighbour of M. P is an immediate neighbour of N and R.
IIL Pis facing Q and O is facing R. O is on the immediate right of P and second to the left of M, who is adjacent to P.
1) Only I and II are sufficient to answer the question.

2) Only II is sufficient to answer the question.

3) Only IT and IIT are sufficient to answer the question.

4) All 1, IT and I1I are required to answer the question.

5) Question cannot be answered even with all I, IT and I11.

SBI-PO-001 35



179.

180.

BSC Academy

R ¥ fha arRi @1 [Af¥ad wu 9 owifer & far &1 s er?

L oifa @ b 9 a1 ® 5 Swa fOdr &1 9=fee 19 oFRd & Ugdl oifhd 13 3FRd & 91 ® |

IL 3Sifr & 918 1 S 9 I & 6 S a1 &1 e 15 3R & d1g <ifhd 18 PR & Ugel 8 |
IIL 3iSifr & fUar &1 Sfed U 99 e drell R’ &l 2 |

1) dad AR U & IR a7 & forg vt & |

2) BAAISMRII U & SR 371 & oy wafa 2 |

3) Bad AR U & IR 39 & forg wafe & |

4) LIARII & |1 U= & IR &1 &1 S Faal |

5) L ISR I ye9 & SR 97 & forg arfyard €|

g dcd M, N, O, P, QIR R U@ AwlE # AMaR A IR d& ufd &7 va Aeed oxa smaifod fhy g | Ares N foa
a1 @1 smafoa fan an?

L CH P [RaR & U8 olfd AHAR & I o fbar wan| A O ugel faF o el foban i |

I es Q ¥farR &1 Aot fhar 1| Aed M AR &1 it fasar w7 |

ML 1e® N Aed O & oFTel a1 Jmafora faam i |

1) &t IR U & SR 39 & forg wafa 2|

2) LIIRI A g & IR a4 & forg rfard 2 |

3) B [JARI U & IR 37 & forg yafa 2|

4) B9 MJAR I T & SR 7 & forg wafa 2|

5) LISRIL & | Wl Ued &I IR 81 & 51 A |

fAde (u. 181-182): FA=fafea Yo &1 wEuHiYds e Hifve ik R Ry U ge=l & swr 4

T gorg Wifes F@1fere] &1 $ad 16 A e ardd Scaliad $RAl 8, olfdb g & a8 1ac f9ed § gER1 A SAT&T

SYIIT a1 S arell Aoy Uered &9 O 4, WRGR ¥ 9qa) A1 & 71egd § i e @ SIRR 3R @ § e awi

=

181.

182.

183.

36

(A) USITE 3 [UTERTT dTet g, BT At W dwar B

(B) & wrif & Hieww W Ad B afd wxe H IS anEen A8 ¥

(C) IS Hez® A1 g99 A UIad dTel @1ael Bl g9l A § IAeT Hal 2 |
(D) fFaia & fore arae & qoraa @1 w6e fhar ST 2 |

faw T Herl (A), (B), (C) R (D) A dI-41 Mf¥ad wu A Told &7

1) ®ae1 (B) 2) Baat (C) 3) Bdet (A)
4) (B) aR (C) gt 5) 5 W BIg T

faw T Pl (A), (B), (C) 3R (D) # & ®1=-a1 Fled w9 4 | 87

1) ®aet (B) 2) Baet (C) 3) dadt (D)
4) (B) 3R (D) a1 5) s W BIg TR

UE el & SR dRISHR] HH 8% § olfdbd P IHER] &), Sl G S § BRI & 2R $1 Adbel dRdl &,
A o9 g3 & | 9er) eX H RRae Afeensii & forg wecayel & @ @ ™1 30% ¥ 23% A 6o 3t 96 | Fi¥ad dR w®,
sa@! 3f B & g auf 7 e 35 fAform afteg — Frer & & s 9 ff s — e ufdd @ 9 @
TS |

STYad HUF & TH gduron FEfaRed § § 19 81 Fad 2?

1) 3@ ft-aew ot ool wfteell & &M W F A9 d wwed g Hahdr 2|

2) 39 IJIHF AR Ul TR W P B DI 3fUell I=a el Pl e Bl 2 |

3) Afge S 9ReR] &) § AR1Ee & U § SRR &4 88 2 |

4) 1) 3R 2) qri

5) Swa # & Brg T
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On which date in August was definitely Anjali’s father’s birthday?

L Anjali correctly remembers that her father’s birthday is before nineteenth but after thirteenth August.

I Anjali’s brother correctly remembers that their father’s birthday is after fifteenth but before eighteenth August.
IIL. Anjali’s father’s birthday falls on an even date.

1) Only IT and III are sufficient to answer the question.

2) Only I and II are sufficient to answer the question.

3) Only I and III are sufficient to answer the question.

4) Question cannot be answered even with all I, II and III.

5) All I, IT and III are required to answer the question.

Six plays, M, N, O, P, Q and R were organised in a week from Monday to Saturday, with one play on each day. On which
day was Play N organised?

L Play P was organised before Thursday but after Monday. Play O was not organised on the first day.
II. Play Q was organised on Saturday. Play M was organised on Tuesday.

IIL. Play N was organised on the next day of Play O.

1) Only I and III are sufficient to answer the question.

2) All 1, IT and I1I are required to answer the question.

3) Only I and II are sufficient to answer the question.

4) Only II and III are sufficient to answer the question.

5) Question cannot be answered even with all I, IT and I11.

Directions (Q. 181-182): Study the following information carefully and answer the questions given

below.

Though Punjab cultivates only 16 lakh tones of rice of premium quality, with rice becoming the second largest food to be

consumed in the world after wheat, the government has been trying to export it through sea route which is cheaper.

181.

182.

183.

(A) Punjab exports good-quality wheat too.

(B) There is no problem in exporting rice through other routes.

(C) Punjab cultivates a large number of medium-or below- medium quality of rice.
(D) Qualityriceis preferred for export.

Which of the given statements (A), (B), (C) and (D) is definitely false?

1) Only (B) 2) Only (C) 3)Only (A)
4) Both (B) and (C) 5) None of these

Which of the following statements (A), (B), (C) and (D) is definitely true?

1) Only (B) 2) Only (C) 3) Only (D)
4) Both (B) and (D) 5) None of these

Over five years unemployment has fallen but the work participation rate, which measures the share of workers in the total
population, is also down. The fall in the participation rate is significant for women: from nearly 30% to a little more than
23%. In absolute terms, this means that nearly 35 million women - more than the entire population of Canada - dropped
out of the workforce in five years.

Which of the following may be an assumption of the above statement?

1) Now lower-middle class can afford not to send their women to work.

2) Now more and more women pursue higher education rather than working at the first opportunity.
3) Unemployment has fallen in proportion to the decline in women's work participation rate.

4) Both 1) and 2)

5) None of the above
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184. vl & /g YR ¥ fITaRT BT gapT 7 8| IR IOIR 9 98 SieR & Wed § <9d B 9% 9 9 iR

2| I8 SR N &)1 ®1 UfAffad axar g oife a8 e W 5 I vy WReR @ w1y 9 fed T g g9
JAMATID] BT Bl & b I8 YR AR AGTs bl o FHET a7 9 v I 2, MURT oien & A1t 4 fUss
T % &R fofy o9 & aramed Rig g8 7

fefaRad # § $I9-91 BUF SWYa IRTBT P AGGA I 87

1) RBR 4 T IV BRIHA B U= Ty F97Y & B |

2) afvgs ara FufRor goifl fRTa (crisil) 7 9RA &) 9@ IRET B BrHT HH AR AT 7|

3) R 98 IR AERYT o/a & AFcl 4 Uos T, I8 Ugel 8 U AERYA G Pl 4% WR &1 a1 Gl 2 |
4) Th SERIGA Iferaeen § e & fJwam (@6 aeds SR @ |

5) T & BIg T

fAde (9. 185-187): A=fafea ga1 &1 wmgriyds sreaaa aifog ik R Ry 1o ge=l & Iwr 4
JCHEE IR H 981 8 URRUg! U OR% HUMEI & o™ & UA B HH PR I8! § odfbd gaI aR% ek W)

gg el ARl ®1 udbs @I gARN Id §Y VISl HUMAI §RI Y AISd oY S & A1 d8 ATBH] Bl d8ck [ddhed Iuaed
P B 2| 39 U & fAuId I8 s @ IR SE iR Aidwie SSAfal A3 gRT UgyYT EEe & 9m
W R BRI B T8 SR G TG Pl AIT A BT TP YK1G M R TR 2 |

185.

186.

187.

Sued Rz § qftia qeal # sfafifed gdemon Fefefad # & ®ra-w0 87

1) TSGR gRI BT MU gguvr =0T U™ - JH@ ATl HUR—l P sacdrizd fbar 8|
2) uforagt fah ot 8t et @1 a1 & A fyer |

3) WBR & UgUYT FREIFA IWT 7 ACHESA IeM DI Zedx @ & 7|

4) o dufEi R SR B T8 BRI G 98 S ey H Scaled Te & |

5) s 9 IS @

Sya gRews H aftid qedl I e S Jds arenl U ey Frefefad § 9 die-ar 8?
1) MeHEsd IR H UIEHI & U 9d UBR ¥ a™ o Refd g |

2) WHR BT AR 3 McIHIERS ot & da fFwe uforggl gRfea o ared 2
3) R/ UoR & &R 9 @I Ugfd o) & B, WHR 399 R 2|

4) MR S 9edl g8 ufoRusl Y AR S %8 2|

5) T 9 IS @

fFfafad & & & Irgam dI-a1 & ol Sudad uRees # aftfa dei & sgmifa fbar S | =°?

1) B BUFRI 1 S ACHESA HUFAT B JHAE H Ugal &A1 2 |

2) TSI ACHEASA HUFIl bad Y ATSA UKD PRdb BT U ¥ Ufcugl HR Al © |

3) IgEM ST WBR BT UHATE GRIGT U & |

4) 4d ¥ SCHHIEs &F H PIs Ufodgl T8l o |

5) 5 ¥ BIS TE
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184. Among investors, confidence in India has taken a knock. The stock market is down by a tenth in dollar terms this year.
That reflects higher interest rates, but also a sense that the government has lost the plot. It has, say its critics, failed to
control corruption and public borrowing, fallen behind on infrastructure and proven unable to make decisions.

Which of the following strengthens the above statement?

1) The government has maintained its pace of poverty alleviation programmes.

2) The global credit rating agency Crisil has downgraded India's credit rating substantially.

3) By the time India fall behind in infrastructure, it had already upgraded its infrastructure to the world standard.
4) Investor confidence is a necessary factor of growth in a liberalized economy.

5) None of these

Directions (Q. 185-187): Study the following information carefully and answer the questions given below.

Increased competition in the automobile market is contributing to squeezed profit margins, on the one hand, but better
deals for the consumer, on the other, including the introduction of newer models by smaller players, threatening the auto
biggies' hold on the market. Against this background, it is surprising that a proposal to subsidise the replacement of old cars
with new ones, in the name of pollution control, has been put forward by the ministry of heavy industries and public
enterprises.

185.  Which of the following is an assumption which is implicit in the facts stated in the above paragraph?
1) Pollution control measures taken by the government have dampened the spirit of major auto companies.
2) Greater the competition, more profit to the consumer.
3) Pollution control measures of the government have shaken the automobile industry.
4) Private companies are not enthusiastic about replacing old cars with new ones.
5) None of these

186. Which of the following is a conclusion which can be made from the facts stated in the above paragraph?
1) The consumer has a win-win situation in automobile market.
2) The government wants to ensure a fair play between the small and big automobile makers.
3) The government is frustrated about the way cars are polluting the air.
4) Heavy industries are bearing the brunt of growing competition.
5) None of these

187. Which of the following is an inference which can be drawn from the facts stated in the above paragraph?
1) The smaller players have given the big automobile companies run for their money.
2) Big automobile companies can compete with smaller players only by launching newer models.
3) Giving subsidizations is the sole preserve of the government.
4) Earlier there was no competition in automobile sector.
5) None of these

Directions (Q. 188-190): Study the following information carefully and answer the questions given below.

The most obvious way to encourage energy efficiency, reduce automobile pollution and cut subsidies is to reduce the
subsidy on diesel, particularly when the owners of luxury cars and SUVs are becoming unintended beneficiaries of the
subsidy. The other obvious way is to subsidise the sale of buses. There can be other innovative ways of serving the same goal.
Attractive prizes can be announced for the design of more energy-efficient, robust and comfortable passenger three-wheelers
which are an important mode of public transport on rural roads as well as narrow city lanes.

188.  Which of the following is an assumption which is implicit in the facts stated in the above paragraph?
1) There is the desire for promoting energy efficiency and cutting pollution level.
2) Energy efficient automobiles are not available in the market.
3) Government wants to replace cars with energy-efficient three-wheelers.
4) Rural roads need to be refurbished.
5) None of these
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Which of the following is an inference which can be drawn from the facts stated in the above paragraph?
1) Luxury car and SUV owners do not intend to avail subsidy on diesel.

2) Buses do not sell because there is no subsidy on them.

3) People enjoy riding three-wheelers in rural areas.

4) Public transport needs to be revamped.

5) None of these

Which of the following is a conclusion which can be made from the facts stated in the above paragraph?

1) In the whole controversy about diesel subsidy, the government has lost sight of improving public transport.

2) Subsidy on diesel is at the root of poor energy efficiency, automobile pollution and non-delivery of benefits to the
genuine people.

3) Subsidy is the bane of the Indian economy.

4) The government needs to learn a lot to make subsidies meaningful.

5) None of these

Directions (Q. 191-195): Following are the conditions for the selection of a historian in an organisation:
To be eligible for selection, the candidate must

L  beapostgraduate in History with minimum 55% marks.

I.  have secured minimum 65% marks in graduation in any discipline.

ML have completed 21 years of age but not more than 30 years of age as on 1.4.2014.

IV. have at least one year post-qualification work experience.

V. have cleared the selection test with at least 60 per cent marks.

However, if a candidate satisfies all the conditions except

(i) atIabove, but has three-year post-qualification work experience, the case may be referred to the Chairman of the
organisation.

(i) atIV above, but has cleared the selection test with more than 65 per cent marks, the case may be referred to the Vice-
Chairman of the organisation.

In each of the following questions, details of one candidate are given. You have to read the information and on this basis

decide the course of action to be taken. All the cases are given to you as on 1.4.2014.

191.

192.

193.

194.

195.

Give answer 1) if the candidate is to be selected.

Give answer 2) if the case is to be referred to the Vice-Chairman.

Give answer 3) ifthe case is to be referred to the Chairman.

Give answer 4) if the data provide are not adequate to take a decision.
Give answer 5) if the candidate is not to be selected.

Shashidhar Prasad graduated in History with 67 per cent marks and has just done his postgraduation in the same subject
with 55 per cent marks. He shall turn 24 this year. In the selection test he obtained 62 per cent marks.

Madhav Gajanan did his graduation in 2008 at the age of 20 and obtained 69% marks. He did his postgraduation in
Political Science with 53% marks. He has been working thereafter for more than three years. He cleared the selection test
with 66 per cent marks.

Ravi Morarka, who was born on 31.3.1987, graduated in Political Science with 66% marks. After his postgraduation in
History with 54% marks, he decided to work. Having served in an NGO for four years, he appeared for the selection test,
in which he got 60 per cent.

Ajith Pillai is a fresher with brilliant academic record. Born on 17 July, 1991, he graduated in Physics with 78 per cent and
then pursued postgraduation in History and scored 65 per cent. He scored 68 per cent in the selection test.

Abha Rani graduated in 2007 with 65% marks at the age of21. She did her postgraduation in 2009 with 55% marks. She
has the requisite work experience and selection test score.
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Directions (Q. 196-200): Each of the following questions consists of five unmarked figures followed by five figures
marked 1,2, 3,4 and 5. Select a figure from the marked figures which will continue the series established by the unmarked
figures.
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